R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Sub ID 6614) (Exp. 11-1-18)\C - Drawings\Current\TX-4224-25 dwg, TX-4225

¥ Endura

PERFORMANCE STANDARD

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions.not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Flip Lever)
Astragal details (Ultimate Multi-point)
Astragal details (Ultimate Hurricane)
Door panel detadils (lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Frame anchoring

O |IN|[vn|jn(A]JWN

73.94' MAX. FRAME WIDTH

97.69" MAX. O.A. FRAME HEIGHT (INSWING)
96.88" MAX. O.A. FRAME HEIGHT (OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

ENDURA
TYPICAL ELEVATION, DESIGN

PRODUCT:

PRESSURES & GENERAL NOTES

FS
LFS
LFS

Y

B

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE [ LFS| PART OR ASSEMBLY:

9/27/18 |UPDATE FOR NEW TESTING
11/01/16|ADDED THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

<

3
2
1

REVISIONS

NO., DATE

DATE: 8,/20/12

XX

INSWING

+40.0

-40.0

-40.0

SCALE:  N.T.S.

DWG. BY: JK

OUTSWING

+35.0

-40.0

-35.0

CHK. BY: LFS

DRAWING NO.:
TX—4225

SHEET 1 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



.,UZ~ SINVLIINBNOD aNIaQunNg ‘Mm°'sy 2102 )]

ZSBLL—4 # NOLVAUISIORN 40 IUVOLILLNIO SNOISINTY i
SHIINIONI YNOISSAJONd JO Qu¥vod SvXal @mm&w&m&ﬂ«%&&%ma Ag EFRJCRERCIT V] N N P 8_
1616658°C18 FON SuOUg S TIIS_SNLVINOIEY G300v| v1/60/L] L || 4IX|E} & |
S6SEE 4 OSHIDA OFZ %og ‘0'd \Su ATBWISSV ¥0 Ldvd [SIT]38N1dv0 Nid TYOVellSY MIN_aav| 61/50/5 | 2 | 915 RS
“ONI ‘SINVLIINSNOD SNIGTNG g. 4 S47 SQI0HS3YHL_a30av|9i/to/1i] € I[N =] RER 2~
S ONIIS3L M3IN_ 804 31vadn| g1/zz/6] v |O| |&|&|e &
CZLYOL# “3'd SvXIL vinaNns - i m gl¥|Z m
T'd IPRUYDS 4 uopuky Ag pedpdedyd sjuewinsoq 110NGOYNd 2|9 W AHb 2 z
g7 70/
woLo9 .
in
* ~
in
™
N
: 5 |
i SO 5
2 < g
Y] in
¢ e W
® 0 | W81 !
5 R |
SN N
i c
s ! %, S
= b=
= 5 »4 s
¥ B «Q 2
[32] - = o]
5 e B
) - <
~
[7e]
. Z
2 8 2 59T
) < (@]
S J
= Q
o i
3] <
[ Ze ]
o =z
o )
X< 234
O £
Z
<
172
n & 1) Q
~ o=
¢, 9 £
! 3 2 8]
i <
5 (o] s
£ 0 0 :
24 = Q
0 8 T 0
< P >
S— ~ O o >
dOl 22 & 3
5 & *
PE 2 5
T 5 £
gL S
2 i
v —
.t =
o o
=Q 3
~ 0O w
=< Q p4
o= P
il o Q
Sk < <
/ ® O
> <€
8 =
2 V)
= & e <
/ , , 2
_.fww.., / &// A} / bk M w
— ] _ |
$ o
o —
> “ L
3 k5] L
g : 2
E £ 9 =
< § =
. <
o =
o
@
: N £
2 e e —— %\
5 W S e ——————— T — S e ——— v | WA
g < ~—

2- 'BMpSz-prep-XL\uaund\sBuimelq - D\8T-T-TT "dx3) (¥199 QI GNS) 0€9 - IGL\SUI 40 3daq sexa) - S\LNINYWYId BINPUI\SIUBID\Y



"GN} SINVLINSNDD aNiaung ‘M 210z §

SNOISIAAY
ZSBLL—d4 # NOLVHLSIOZM 4O ILVOIJNID D.Z 10d—1LINW m.C\E:.nSv | JIva TON
ONI TYNOISSI40dd 40 Civ08 SvxXdl MM . 1% [+6]
s cacarela SHvL3Q vovalsy S TS _ONILYINOLLYY d3aav| +1/60/1 ] | T m < L - L
o g od M, ATBWISSY 80 18Vd [ 1 36Nidvo Nid TYOvalSy M3N_aav| sL/so/s |2 | |5 Y6
O A T e d VLY, ST SAI0HSTIHL 0300vIsL/1o/iil € 1| F| | 1€ T ||
oN! HInNSNe S41 ONILSIL M3IN 804 3Ivadn| 81/72/6| ¥ | © g Blslg X -
: N S
CTILHOLF *3'd SWXaL VHNGN3 S— HEIEIEIE S
‘T'd IPIULYDOS 4 UopuAk] :Ag peJdndeid sjuswinoog 1ONA0Hd Sioldlola 0
WOLIOg
|
L
L
9
o——4
3
el -
..nu. X
~0
~ O
= P
o <3
3 n m
= ) . |
ﬂ (o] _ :@N —. — c
<O = —
~r . M m
N 3]
; 3
= ©
2 8 » N o
] - O
T w 5 £
- 3 <
= [=)
)
0 L.
~ /
2
= (72}
_ RQ z 89T
& 5 =
Q O
2 S
L 1L
0 o
O <
b4 =
[2°4
)
Q &
o] =
z
<
- v
R Q =
— = "4
- Q & @)
x*r L £ O (%]
~ ™~ o il
£ 1 4
B | o Q @)
P ) Q <C
o - £ = =
o1 2 o £ %o
O A
[ R— ]
Jor 582 3
4Ol 32X £
Q x H* 21
d E
= &
g 5 =
o Q¢+
N4 & &
=0 g =
L.m w o
> = w |
2 ¢ @
(S = O G
- L A
/ © a
s O 84
X g £ >
o =2 ) m
M xI o & A
7 ® A £ I= —
/i e h_ . O
5 ll‘/'l I o)
..v.&. yi &/ " O‘ ™ T -m cv.u D._.I
..... o * ot o lolv H—
£\ X & a5
2 3 S -
c o o0
£ 3 5 =
£ . > 0
= s S 3 LLl
¢ O o - b
¢ 5% E <
] <90 2 =
< 8" - =
2 ] < -
0}
Q.
8 N LN
\!mlllllllll..l..l.llllll..uuf T R — ey

Z-€ 'BmMp'Sz-przr-XL\suaunD\sbumeld - D\(8T-1-TT 'dx3) (199 A1 GNS) 0€9 - IAL\SU] J0 3deq sexa] - G\LNINYWYId _InpuI\sIualO\Y



TCONE SANVYLINSNOG aNigung ¢

M'¥ BOOZ Q

258LL—d4 # NOUVMISIONN 40 ILVOLJINID SNOISIAIY
SHIINIONI IWNOISS340Ud 40 Quvoda Svxil Gm«@@m%ﬂ&&ﬁmwi Ad 31vd [ON}ey n 8~
L6L6'6S9°CLE FON SUOUd S TS _ONIYINOILYY a3aav| ¥1/60/1 | L NEHE N
GESEE 4 OOMIOA OSZ X0 ‘O ANGN3SSY ¥O 18vd | 47| 38NidvO NId TvOVHISY MIN dav| 61/50/5 | 2 |olhs| |, & | &
0£Z x08 ‘O'd Q= N
“ONI ‘SINVLINSNOD ONIGINg M$ S SUIOHS3YHL 430aY|91/10/L1] € |\ B 2 4_
S37 ONILS3L M3IN d04 3ivadn|gi/zz/6] ¥ | |5 |&|e &=
SZIYOL# "I'd SVX3L YHNAN3 wlSle| |2 &
‘3'd IPIUIYDS °d Uopukt  :Ag peupdeiq syuswnoog 1onaoYd 2151213 w P2
S7~/-0/
g w
oo
: T <
s .a. o a.
& | < v
By o e _y =
At - > >
g IF
25 T =
N WOLIOg 3 o
7 A
%]H = u
Q
|1 I a 2
1 ¢ %
2 a)
2 =
<
3 T
| 5
° © m
: v (%,
3 = 2
3 5o £
R == a.
2 0% W
] o0 O. >
2 | 8% 3
P W H:
m‘
o |
R <
Q
<C
o
&
<
=
e )
Z
o =
- =
T <
>
3 (-]
% 2 K = =
S * 8
S n 318 g % £
o) o3 < 2 2
> e pie! g
z £ 38 25
- O n —
o mRu < 5 .W.. .M o uA
A =T > oz |
or |G S S |03
£ O
X | = &\
2 3 2 Z
< X < . s
nou . :Omo}l' -
T g8
5 o
e = —
= < paar
o) I Q
3 _u a
z g =
&
-]
T 80— =
O T 3
O
] <
° [ O m
‘ Olg [ WS9°C <
v S8 w
[y
) T a2 = <
i W 1 Q
[ o0 ] e =
N <€ o
~N = 0 M =
° @ —i X
o 2 7 2
3 N S <
@ R 2
-5
=D
[ T —
o
o0
%H ‘ -._ I
» fo in AN v-vY
B NN -
~Noo 9 dOl
N

Z-% 'BMP'SZ-pZgy-XL\Wuaund\sBumesq - D\ST-T-TT 'dx3) (¥199 QI ANS) 0£9 - IAL\SU] 40 1daq sexa] - G\ININVINYIJ eInpuI\sIuaIDNY




e— 1"

)/

LATCH STILE

(LVL)

35.75" MAX.
PANEL WIDTH

21.0" MAX

12'LONG
LOCK BLOCK
(WOOD)

D.L.O. WIDTH

95" MAX. DOOR

79.0" MAX
D.L.O. HEIGHT

PANEL HEIGHT

N

JELD-WEN

Insert Glazed

(steel)

]n

INTERIOR ] TOP RAIL
m * (WOOD) ™\
- ¢
EXTERIOR
HINGE STILE
(LVL)
m HORIZONTAL CROSS SECTION STEEL SKIN

5/ A | A  [0.02'MIN,

INTERIOR

#6 X 1-1/2" PH SMS

GLASS BITE 7/16"
INTERIOR

4

—1/2" NOMINAL GLASS THK.

1L

1/8" TEMPERED GLASS
;ﬁ—-Am SPACE

A ——
PR ——

NS

~~~—1/8" TEMPERED GLASS

1L

STEEL SPACER
FOAM CORE

EXTERIOR - Q'SO SEALANT ' ~ (POLYSTYRENE)

LOW TACK SEALANT

GLAZING DETAIL BOTTOM RAIL
Lip Lite Insert Glazing (STEEL)

/" 2"\ VERTICAL CROSS SECTION

/1
/4

A\
\

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
CERTIFICATE OF REGISTRATION # F—11852

EXTERIOR

ENDURA
DOOR _PANEL DETAILS
(LIP LITE INSERT GLAZING)

PRODUCT:

LFS
LFS
LF.

BY

5/05/15 |ADD _NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

8/27/18 IUPDATE FOR_NEW TESTING
11/01/16|ADDED THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

NO! DATE

1

<+

3

o~

oaTE: 8/20/12

SCALE:  N.T.S.

DWG. BY: JK

&/

CHK. BY: LFS

DRAWING NO.:
TX—4225

SHEET 5 oF 8

Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI y 630 (SubID 6614) (Exp. 11-1-18\C - Drawings\Current\TX-4224-25.dwg, 5-2

REVISIONS

© 2012 R.W. BUILDING DONSULTANTS INC.



R:A\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Sub ID 6614) (Exp. 11-1-18\C - Drawings\Currenf\TX-4224-25.dwg, 6-2

—] 2X FRAMING
T ><— (G >=0.42)

EXT, SHEATHING —\ i . /— DRYWALL
¢l .

- _L—wox2.5 PR
174" MAX,

WOOD SCREW
SHIMSPACE |

0.15"
C'SINK
(TYP.)

u

DOOR PANEL \

M HEAD
ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR W INTERIOR

7”3\ VERTICAL CROSS SECTION

W Outswing shown - inswing
also approved

1/4" MAX 0.15"

SHIM SPACE  CSINK
EXT. SHEATHING 7 ‘1 (YP)

#10 X 2.5" PFH WOOD SCREW
—

2X FRAMING

(G >=0.42) \

 —

Il

— JAMB

ENDURA WEATHERSTRIP

(QEBD 650}

INTERIOR
o S
_2/‘_~/// \\_- EXTERIOR
DRYWALL
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS

#8 X 3/4" PFH SMS 4"HINGE

/1 "\ HORIZONTAL CROSS SECTION
\U Inswing shown - Qutswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

N
g &7
£ N Gu
b SED L w
g 0@ 2
i 8o 33
/ / S8 %g
0N - W
4 4 . Bgh ok
/ / : o xg EE
® Z8 ° o%
a = g8 2
2 Bak gg
I 8 § o [
2 g 0
\6/ RV 8
Sa i , B )
. [ DEADBOLT: KWIKSET SIGNATURE SERIES 8
1 < ':
— | (980/985) s |.E5
/ y —— LATCH: KWIKSET SIGNATURE SERIES 3 - S
J / (991) 5 |2 53
1 1 . |97e
/ / i g 5
S|z
(a8 Q.
CORNER PADS (TYP.) =
e I
8}
&
2
S
ol
Zi=
v wn
ULTIMATE MULTI-POINT ASTRAGAL ? 3 2 %
S|l 1=
ULTIMATE HURRICANE ASTRAGAL u%; é § %)
wlwiol
ENDURA WEATHERSTRIP DOOR PANEL ENEN.
(QEBD/PE 650) / alZlo
. ~ Slola
Q0
< | <C|{<C
N’ Ol
\ i
’§§§\ g SERE
SNNE
= I %
#8 X 3" PFH WS
oaTE: 8/20/12
#8 X 1"PFH WS scale:  N.T.S.
DWG. BY: JK
m HORIZONTAL CROSS SECTION cHK. BY:  LFS
w DRAWING NO.:
TX—4225

SHEET 6 ofF 8

@ 2012 R.W. BUILDING DONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Sub ID 6614) (Exp. 11-1-18)\C - Drawings\Current\TX-4224-25.dwg, 7-2

\\ \\ oot &
INTERIOR EXTERIOR INTERIOR EXTERIOR LR - "
B o ENDURA G 88, Eu
DOOR PANEL WEATHERSTRIP . B DOOR PANEL EX 5 8
L DOOR PANEL INTERIOR EXTERIOR 3 du o8 8%
ENDURA N (QEBD/PE 650) S \ B Z) ndogn gl
R Dggggmep WEATHERSTRIP,  INTERIOR EXTERIOR [ < céﬂ g b2 i
(DBK-R) : 8 32 3z
A% (DBK‘ZAC) / {QEBD/PE 650) 5,_ gx 8 % g
210000T i
1(2X3)4)5 t x 880 g3
(&) T B
g -9- o g o] )
s a
& 292 ap
0‘: mon og
—_ » 2 § oE
5 gg
E &K g
g
1%
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 2
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW s
[TN]
/" 1"\ VERTICAL CROSS SECTION /"2 VERTICAL CROSS SECTION /~3 \ VERTICAL CROSS SECTION @ ggmg;éugg?hsrgﬁggnon . #
ing Adjustable Threshold Inswing Articulating Threshold 7 / Outswing Bump Threshold ® 2
\U Inswing Adjusta W w/ PingCop’rure 9 U 3 g =
5 = O
3 3
— —_— . x E
! = J | § S| W
= =z = -
i 1 L N | f | oleleloh-
] m
| 456" | | 456" | 456" i | 456" | ==
1 JINSWING ADJUSTABLE THRESHOLD 2 ) INSWING ADJUSTABLE THRESHOLD 3 ) INSWING ADJUSTABLE THRESHOLD 2 ) INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD 5
ZAIL4565 ZAI4565FN IAILAA4565 TAIAA4565FN ZA4565RDS 1k
z 3
=l 1ZIG
nl T n
— 7 a3l B
! T ! 25125 3
o o o N SRR
3 - > - SRS |
N jﬁ N
i wl o83
| | | < ] - - i
= 456" ' | - 456" , 4.56" - . 456" - c § § 8
o
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD NEEE
6 ) aciases 7 S iacasesin 8 )iACiAndzes 9 FIaCAadsesiN 10 )7 Acase5rDs §§§§L§
MAX. DESIGN PRESSURE = 35 PSF NIDNRIS
* 4 M|~ %
] s P 3 .
Y ﬁ'/l & =%: I DATE..8/20/12
= A = = scAate:  N.T.S.
L * * i =) DWG. BY: JK
] l ] I l { . CHK. BY: LFS
. 4.56" - — 4.56" ! ! 4.56" ' i 4.56 l DRAWING NO.:
OUTSWING THRESHOLD 12) QUISWING THRESHOLD 13) QUISWING THRESHOLD 14)-OUISWING THRESHOLD TX—4225
11 FosLases 7OBA4565FN ZOB4565RDS FOB4566 SHEET _7 OF _8

© zo012 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - 630 (Sub ID 6614) (Exp. 11-1-18\C - Drawings\Current\TX-4224-25.dwg, 8-2

s o 2X framing (by others)
05%
Fa o
=ﬁ 9 o , 6"
s Q \ A ™ )
a (Tvp) r”' g
| L |
1T 1] SEE HINGE NI 1
1 _EES"'/ DETAIL 1 1= \_ _”_T
- ? #10 X 2.5" PFH DETAIL 1 =
N WOOD SCREW . a o
= (TYP. @ HEAD CE
AND JAMBS)
N | | I A
i 4 |
\
R B l—%
P
- SEE HINGE ! '
DETAIL 2
/ | | %
- BB DETAIL2 OR 3 X

HINGE JAMB

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE (MIN. 3000 PSI)
WOOD (G >=0.42)

CONCRETE ANCHOR NOTES:

AP} — 2" (TYP.)

FRAME ANCHORING
XX

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations nofed as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

TAPCON® 1-3/4
ELCO " iid n Wl
utTRACON®| 1/ 1-3/4 1 3

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW
(TYP @ SILL)

Astragal Strike Plate
@ Head Jamb

A\
W

{\° :] =

W

N\

N\
#10 X 2.5" PFH WS

Wb
'\.’\"\'\'\«; Y\xu‘l'{
SV g 1
TxTInE 4580

A Gy et 9 &,

e S =R ")4/ ¢,

Lo P2 NS N
e S AR R
Sl‘“\"‘ fé. Eosm o.'t \)—‘?‘ .
SolrFioin WO ]
gl 1 Tie QRN
}““"}:‘giy&%; S iz
\ iz i Ofo

. v e e

DETAIL 1
- #8X 2-1/2" PFH WS
. 1@ LI @
e |
#8X1"PFH wsé:. Hle SJ—F= #8X3/4"PFH WS
[~ 4" X 4" HINGE
A\
\
HINGE DETAIL 1
¥ | #B8X2-1/2"PFHWS
]
|® = ®
" ol = b
#8 X T"PFH wsé:‘ o == #8X 3/4"PFHWs

" 4" X 4" HINGE

A

N

HINGE DETAIL 2
ASTRAGAL PIN CAPTURE
COMPONENT (UNDER CAP)
/2" DIA. HOLE 1/2" DIA. HOLE (IN CAP)
\
@® S @
|
DETAIL 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

uj
2
S "
°
L w 59
e g R
5 .8 z=
0 i [S 34 0"_
. = Zu
w &3 t
c ] b g*
) o
h: %23 58
> H$o 0E
2>k A
>0 W
Z0om o
O ”n zo
& ON g
9 4
© Q5% o
[ Zm Ol
§ 3% 26
- <6 O
£ 22f gp
a 85
: o
€ =
c
£ @ 55
5 [#]
0
o
o

[}

=

S

& T

=S O

) =

=z <C

W W

3

o7

e L
O
D
[
(o]
o
0.

nin s

] B B 1 )

REVISIONS

5/05/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

9/27/18 |UPDATE FOR NEW TESTING
11/01/16|ADDED THRESHOLDS
1/09/14 |ADDED ARTICULATING SILL

NC| DATE

< M ONG

oATE: 8/20/12

scAtt:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4225

sHEET 8 oF 8

© 20712 R.W. BUILDING DONSULTANTS ING.



